Z Hlparticle]® 7+ A[rigid

(@ &9 ddAE
bodylz T2 d, o] F 7HA¢] F&} Aol H

FAAT?
(b) =& [Coriolis] 7FEEgh FoA1A] AHata,
Azd el "y HAGA
(49 Aol Z[gyrolAlA)e] 8 &

3.[4%4] A baseball machine throws
baseballs with a horizontal velocity vg at height 1.5
the

between the machine and a hitter is 12 m and the

pitching

m from ground. The horizontal distance
target height of a ball is 1.0 m from the ground.
(a) Determine the magnitude of the velocity vo.

(b) Find the slope of the trajectory at the hitter’s
location (express the slope as an angle relative to

the horizontal plane).

41577 0.30 kgel & A¢} 040 kgel £ B7F &
A AGEA Fdss FEd gy 9l
< a9 ueoh o] WMo A E o]
oAl AE 1AF HAo] AV AAHL w7} 3]

;_qli
.
]

o
AR

i o

0] =
AR -

ﬂ\—r“r}i—\l

ol weh Bol gxo1M D AAE FHoIA €Lk
g whe] AFe PAY W, B 27%%

vgel A7)+ 24 m/so|th.

& Tt

o] A~
(b,c) 40 Ne| 3 Pz o}
w2 ol7] AR &

o Aol digt HAU7tEE apas

3 =2y 8 Fo A2 A

(e}
RN =
5t HAa FxY ME, F A =ldegree of freedoml]

= e

3. (a) vy = 376 m/s
(b) a = 4.76°

4. (@) ay/roq = 36.0 m/s”
(b) vy = 1.30 m/s

5.(a) P =245 N
(b) aA = 0587 m/s*—
(¢) apa = 259 m/s>/30°
(d) 2
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1.[47] A 4-wheel-drive automobile of 1800 kg is
driven on a horizontal road at a speed of 72 km/h
when the brakes are applied. Constant braking
forces are applied by the friction between the road
and the tires. Static friction coefficient p, is 0.85
and kinetic friction coefficient g, is 0.80.

(a) the

automobile as it comes to stop.

Determine distance traveled by the
(b) Determine the time required for the automobile

to come to a stop.

2.[2+34] 77+
AHow o]Fo]d  AHHEAA, Z&FHFlangular
momentum]o] &3k

(a) g% O°ll w3 7t
dRA ] Ao

aL, 3 H 9o REH=IR?
(b) 4H Ol digt 2+ Ao XHE7} r; o]
Grrb v A W, o] AgAL ABFTA AAME =
1 &
r¢ = E m;T; O]E} ?g%k%—/g G_04 Q—E% V(}ﬂ'-ﬂ
i=1

(a) < AE 199 AHAXAH ZFo] FHo] HEE
So] &3tirh stk 7& AV 7& Bo SE3
A =& Tkt

(b) +& A7} & B FE357] A £re A
717b vt & o, dAEAAEE & AF (7 Co
FEs7] A7) A9t B 25 ;Ls}a}

() olol4 % B/ 7% C
Be} Co $=2 Taeh

Vo

A B
54741 Wkx]Eo] 90 mmolal H o] 792 kg ¥
7F EA g = wige AAS i, vhA ol
40 mmeo]lx F=o] 0.72 kg?l & AV} 193 e
Tt ¥ £% 20 m/sE B SEIH TE A
HEd A =7F 080t & A% ¥ BY £xE& T3
o},

1. (@) x = 255 m
(b) At = 255 s

3. (@ v = V29L
(b) va = 0, Vg = vy—
() vg' =0, v¢' = vy~
4. (a) v = 1.77 m/s |

(b) Vmax = 0.253 mi
5. VB = 2.59 m/s—>
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1.1448] g5 &9 2% U= NesFdo =z Halet
(a) 20058rd % 28}7] ‘T8l FEo|A FH3F A3}
S U o] B ok
(b) E&u =9 WMA(D'Alembert’s principle)o] & F
A17}?
2.[47] A=l 20 kg olx 3)AWHH(radius of

gyration)®] 0.70 m <1 o]F Z&7} Ut} HE

o WMAF r,= 050 m, v EFE WAE &
0.80 m o|t}t. & mo] 80 kg 5o ¥} 2
g Qlal, 150 N¢j 3 P2 &5 Fopdslt. &9
o] 3 A7tE% aE TstEh

v@

v

P
3.[674] When the forward speed of the truck shown
was 12 m/s, the brakes were suddenly applied,
causing all four wheels to stop rotating. It was
observed that the truck of 2400 kg skidded to rest

in 15 m.

(a) Determine the acceleration of the truck until it
stopped.

(b,c) Determine the kinetic friction coefficient pu,
and the magnitude of the normal reaction force at

each wheel as the truck skidded to rest.

18354 OXYel, O&
= Oxyell 911 A,

tﬂi}%% o2 2 BATE A
(Q)OX‘) = QxQ + (C
(a) 7Fg Q)7 A3 P9
o[, fIA¥E r(H)e
koAl &e] o= Zhzh

(Floxy = oxr + (Foxy

) 19 A ol&std AR P VSR arE F:

atet.

O
S’
o)
g

(c) #lolA =%

7 5ol

=

i or & 30 > §
:IOL_|4

Teher.

Ve

BD (#°] 0.16 m)e] 2

Aol A 7k ge] ez 7}

2= AB (Z°] 0.05 m)7}

= 180 rad/s® 3| A&l

9 DE 4 6}5 - AD

0173

1 FJ«]
0.85 m/s?] e‘xéfﬂ

=
L
FE Eo A =9 TF £

A A 1A
(r;, = 0.08 m,

:E VpE T-3h2f.
(b) E2l9 &

(c) A D9 7I%4 % apE

(a) 219 45 wet A DY
Z

2. a = 6.84 rad/s?)
3. (a) a = 4.80 m/s’—

74 E aft ACY 7SR acEs

VB

T8},

ket

(b) py, = 0.489

(¢) Niont = 6437 N1, Nyear = 5335 N 1
5 w = 493 rad/s{, vp = 573 m/s—
6. (a) w = 106 rad/s(, vp = 244 m/s|

) a =0, ac = 9.03 m/s*—
(c) ap = 16.8 m/s™—



